552 7"7 'o1n 2,7 Naw .7"0a

With a sloping wall — pown BNioa

OVERVIEW

X211 explained the 71wn of 121 XMp 7. The reason we consider the 790 at rest
in the 2"7n, is because it landed on a yown Pm2. The question NHOIN
addresses is: any object in a 1" that is 2°ndv "W 7YY is either a n°on1> (if
it is '7 2m0) or a MW opn (if it is less than '7 2mN), and ™» 7%vnY it is never a
3", so how does it help that it is resting on a ¥9Wwn N1, since it is not in a
"N

mMdoIN responds to the anticipated question:'
— 1YY D9N91M D29V 1 29NRT PNYY 13%39 MMIIN
The 5''9 says that this is a case where the public adjusts their burdens on
this sloping wall
— 0390 MY "N
It is therefore considered a 2"'711.2

SUMMARY
An object in the 7", upon which people adjust their burdens, is considered
a part of the 1"71.?

THINKING IT OVER
1. Why doesn’t 'o1n say that it is a 7"77 since it is a wall in the 7"77, and
anything that is on the side of the wall is considered a 7"77?*

' See ‘Overview’.

% See 131 TY R IR R,1 '3, see also 19°K2 77 2,7 'O

3 'on here does not mention the qualification that X719 requires on X,7 77, namely that it has to be "o m2x
(o°mov).

* See "o T9IPT 112°27 RTOM 27 MK R,T X, see also 1°R217"7 2,7 '0IN at the very end. See R"ow.
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